

$$C_3 = 0 \quad C_4 = 0 \quad C_5 = 0$$

نفس الكلاص

$$y = \sum_{n=0}^{\infty} C_n x^n = C_0 + C_1 x + C_2 x^2 + C_3 x^3$$

$$y = \frac{1}{2} + \frac{1}{2} x + x^2 + 0 + 0$$

نفس الكلاص

$$2C_2 + [6C_3 + 4C_0]x + \sum_{n=4}^{\infty} [n(n-1)C_n + (-2n+10)C_{n-3}]x^{n-2} = 0$$

بالطاقة

$$2C_2 = 0 \Rightarrow C_2 = 0$$

$$6C_3 + 4C_0 = 0 \Rightarrow C_3 = -\frac{2}{3}C_0$$

$$C_n = \frac{(-2n+10)}{n(n-1)} C_{n-3} \quad n \geq 3$$

نفس الكلاص

$$y = C_0 + C_1 x + C_2 x^2 + C_3 x^3 + \dots$$

$$y = C_0 + C_1 x + 0 + \left(-\frac{2}{3}C_0\right)x^3 + \dots$$

السؤال الثاني

$$y'' + 4y = \cos(2x)$$

نفس الكلاص

$$S^2 y(s) - S y(0) - y'(0) + 4y(s) = \frac{S}{S^2 + 4}$$

$$S^2 y(s) + 4y(s) = \frac{S}{S^2 + 4}$$

$$y(s) [S^2 + 4] = \frac{S}{S^2 + 4}$$

$$y(s) = \frac{S}{(S^2 + 4)^2}$$

$$\mathcal{L}^{-1}\{y(s)\} = \mathcal{L}^{-1}\left\{\frac{S}{(S^2 + 4)^2}\right\}$$

$$y(t) = \frac{1}{4} t \sin(2t)$$

$$y'' - 2xy' + 4xy = x^2 + 2x + 2$$

$$p(x) = -2x \quad q(x) = 4x$$

$$y = \sum_{n=0}^{\infty} C_n x^n$$

$$y' = \sum_{n=1}^{\infty} n C_n x^{n-1} \quad y'' = \sum_{n=2}^{\infty} n(n-1) C_n x^{n-2}$$

$$\sum_{n=2}^{\infty} n(n-1) C_n x^{n-2} - 2 \sum_{n=1}^{\infty} n C_n x^{n-1} + 4 \sum_{n=0}^{\infty} C_n x^n = x^2 + 2x + 2$$

$$\sum_{n=2}^{\infty} n(n-1) C_n x^{n-2} - 2 \sum_{n=3}^{\infty} n C_{n-3} x^{n-2} + 4 \sum_{n=3}^{\infty} C_{n-3} x^{n-2} = x^2 + 2x + 2$$

$$2(1)C_2 x^0 + 3(1)C_3 x^1 + \sum_{n=4}^{\infty} n(n-1)C_n x^{n-2} - 2 \sum_{n=4}^{\infty} (n-3)C_{n-3} x^{n-2} + 4 \sum_{n=4}^{\infty} C_{n-3} x^{n-2} = x^2 + 2x + 2$$

$$2C_2 + [6C_3 + 4C_0]x + \sum_{n=4}^{\infty} [n(n-1)C_n + (-2n+10)C_{n-3}]x^{n-2} = x^2 + 2x + 2$$

$$2C_2 + [6C_3 + 4C_0]x + (4(3)C_4 + 2C_1)x^2 + \dots$$

$$\sum_{n=5}^{\infty} [n(n-1)C_n + (-2n+10)C_{n-3}]x^{n-2} = x^2 + 2x + 1$$

$$12C_4 + 2C_1 = 1 \Rightarrow C_4 = \frac{1-2C_1}{12}$$

$$6C_3 + 4C_0 = 2 \Rightarrow C_3 = \frac{2-4C_0}{6}$$

$$2C_2 = 2 \Rightarrow C_2 = 1$$

$$C_n = \frac{[-2n+10]}{n(n-1)} C_{n-3} \quad n \geq 4$$

$$C_0 = \frac{1}{2} \quad C_1 = \frac{1}{2}$$

نفس الكلاص

$$\frac{-dy}{\frac{\partial f}{\partial y}} = \frac{-dz}{p \frac{\partial f}{\partial p} + q \frac{\partial f}{\partial q}} = \frac{dp}{\frac{\partial f}{\partial x} + p \frac{\partial f}{\partial z}}$$

$$\frac{1}{\frac{\partial f}{\partial y} + q \frac{\partial f}{\partial z}}$$

$$\frac{-dx}{-z^2} = \frac{-dy}{2q + z^2} = \frac{-dz}{-pz^2 + q(2q + z^2)} = \frac{dp}{p(-2zp + 2qz) \frac{\partial f}{\partial x}}$$

$$\frac{dq}{0 + q[-2zp + 2qz]}$$

$$\frac{dx}{z^2} = \frac{-dy}{2q + z^2} = \frac{-dz}{z^2(-p + q) + 2q} = \frac{dp}{p^2 z(-p + q)}$$

$$\frac{dq}{2zq[-p + q]}$$

$$\frac{dp}{p^2 z(-p + q)} = \frac{dq}{2zq[-p + q]} \Rightarrow \frac{dp}{p^2 z} = \frac{dq}{2zq}$$

$$\ln(p) = \ln(q) + \ln(z)$$

$$\ln\left(\frac{p}{q}\right) = \ln(z) \Rightarrow \frac{p}{q} = z \Rightarrow p = aq$$

$$q^2 - aqz^2 + qz^2 = 0 \Rightarrow q[q - az^2 + z^2] = 0$$

$$q = 0 \text{ or } q = z^2[a - 1]$$

$$p = az^2[a - 1]$$

$$dz = p dx + q dy \Rightarrow dz = az^2[a - 1] dx + z^2[a - 1] dy$$

$$\frac{dz}{z^2} = a[a - 1] \frac{dx}{z} + (a - 1) \frac{dy}{z}$$

$$-\frac{1}{z} = a[a - 1]x + (a - 1)y + b$$

$$z = -\frac{1}{a[a - 1]x + (a - 1)y + b}$$

المعادلة

$$u = 2x^2 + 2z$$

$$v = y^2 + 2z$$

نفس المعادلة

نفس المعادلة

$$\frac{\partial f}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial f}{\partial v} \frac{\partial v}{\partial x} + \frac{\partial f}{\partial w} \frac{\partial w}{\partial x} = 0$$

$$\frac{\partial f}{\partial u} \left[\frac{\partial u}{\partial x} + \frac{\partial u}{\partial z} \frac{\partial z}{\partial x} \right] + \frac{\partial f}{\partial v} \left[\frac{\partial v}{\partial x} + \frac{\partial v}{\partial z} \frac{\partial z}{\partial x} \right] = 0$$

(1)

$$\frac{\partial f}{\partial u} [4x + 2p] + \frac{\partial f}{\partial v} [2y + 2q] = 0$$

نفس المعادلة

$$\frac{\partial f}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial f}{\partial v} \frac{\partial v}{\partial y} + \frac{\partial f}{\partial w} \frac{\partial w}{\partial y} = 0$$

$$\frac{\partial f}{\partial u} \left[\frac{\partial u}{\partial y} + \frac{\partial u}{\partial z} \frac{\partial z}{\partial y} \right] + \frac{\partial f}{\partial v} \left[\frac{\partial v}{\partial y} + \frac{\partial v}{\partial z} \frac{\partial z}{\partial y} \right] = 0$$

(2)

$$\frac{\partial f}{\partial u} [0 + 2q] + \frac{\partial f}{\partial v} [2y + 2q] = 0$$

نفس المعادلة

$$\begin{vmatrix} 4x + 2p & 2q \\ 2q & 2y + 2q \end{vmatrix} = 0$$

$$(4x + 2p)(2y + 2q) - 4pq = 0$$

$$8xy + 8xq + 4py + 4pq - 4pq = 0$$

$$8xy + 4pq + 8xq = 0$$

$$q^2 - pz^2 + qz^2 = 0$$

المعادلة

$$\frac{\partial f}{\partial x} = 0 \text{ or } \frac{\partial f}{\partial y} = 0 \text{ or } \frac{\partial f}{\partial z} = -2zp + 2qz$$

$$\frac{\partial f}{\partial p} = -z^2 \text{ or } \frac{\partial f}{\partial q} = 2q + z^2$$

$$\frac{dy}{dx} = 3y - 2z \quad (1)$$

$$\frac{dz}{dx} = 2y - z \quad (2)$$

$$y' = 3y - 2z \quad (1)$$

$$z' = 2y - z \quad (2)$$

$$z'' = 2y' - z' \quad (3) \quad \text{نحوه 2}$$

$$z'' = 2(3y - 2z) - z' \quad \text{نفر 3 و CV}$$

$$z'' = 6y - 4z - z' \quad A$$

$$y = \frac{z' + z}{2} \quad \text{نفر 1 و 2}$$

$$z'' = 3[z' + z] - 4z - z' \quad \text{نفر 3 و CV}$$

$$z'' = 2z' - z$$

$$z'' - 2z' + z = 0$$

$$\lambda^2 - 2\lambda + 1 = 0 \Rightarrow (\lambda - 1)^2 = 0$$

$$(\lambda - 1)^2 = 0 \quad \lambda = 1 \quad \text{جواب واحد 1}$$

$$z = c_1 x e^x + c_2 e^x$$

$$z' = c_1 e^x + c_1 x e^x + c_2 e^x \quad \text{نفر 2}$$

$$y = \frac{c_1 e^x + c_1 x e^x + c_2 e^x + c_1 x e^x + c_2 e^x}{2}$$

$$y = \frac{1}{2} [2c_1 x e^x + 2c_2 e^x + c_1 e^x]$$

$$y = c_1 x e^x + c_2 e^x + \frac{1}{2} c_1 e^x$$